French GCSE Grammar quickie (6)

Adjectives with irregular feminine endings and preceding nouns

1.Match up

1. Beau Big, Fat
2. Jeune Kind

3. Deuxieme old

4. Bon Good
5. Mauvais New
6. Joli Better
7. Gentil Second
8. Nouveau Pretty
9. Autre Other
10. Meilleur Beautiful
11. Vieux Bad
12. Gros Young

2. Classify the adjectives below in the categories below

1. Beau/Belle --- 2. Vieux / Vieille --- 3. Gros/Grosse --- 4. Premier/Premiére ---
5.Jeune --- 6. Joli/ Jolie --- 7. Grand /Grande --- 8. Petit / Petite --- 9. Bon/Bonne
--- 10. Mauvais/Mauvaise ---11. Deuxiéme ---12. Nouveau / Nouvelle ---13.
Autre --- 14. Meilleur/Meilleure

B. A. N. G. S.
Beauty Age Number Goodness Size

3. Match the opposites

1.Beau Mince
2.Bon Méme
3.Autre Dernier
4.Gros Pire
5.Premier Moche
6.Jeune Nouveau
7.Ancien Mauvais
8.Meilleur Vieux
9.Grand Petit

4. Complete with feminine adjectives below the missing letters

1. Elle est mignon 6. Marie est une joli__ femme

2. Ma sceur est gentil 7.Jeveux une nouve__ __ __ voiture
3. Ma grand-mére est petit__ 8. Cette glace est tresbon_

4, Cette confiture est mauvais__ 9.Cestmapremi_  foisici

5. Je cherche une meilleur__ solution 10.Jesuisladeuxi_  femme

6. Complete

a. Marine est une tres
woman

femme = Marine is a very beautiful

5. Translate into English
a. Un vieil homme

b. Un bel arbre

c. Une petite fille

d. Une grosse moto
e. Le premier étage
f. Une vieille maison
g. Un bon enseignant
h. Un nouveau sofa

i. Un nouvel endroit
j. Une jolie robe

k. Le meilleur éleve

b. C'est notre

c. Je voudrais une

d. Il est

e. ll est mon

f. On a acheté une

g. Elle est une

fois ici = it is our first time here

bouteille = | would like another bottle

mais béte = he is good-looking but stupid

étudiant = he is my best student

voiture = we bought a big car

mere = she is a young mother

h. Mon voiture était plus petite = my former car was smaller
i. Le homme n’est pas heureux aujourd’hui = the old man is not
happy today

j. Marc est un tres

k. Il fait le

[. Suzie est une tres

homme = Mark is a very handsome man

garcon = he acts like a bad boy

femme = Suzie is a very good woman

7. Translate into French

a. A young man

b. A small boy

c. A big car

d. A beautiful tree

e. An old house

f. An old man

g. A bad teacher
h. A good doctor
i. The first floor

j- A new sofa




